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,000uL

100 ~ 1
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HI

H=7J| FIXARET / SIM /s AMa|2 AED ESH
=F 8mL =3 teimL AMBE& AETH No
0.5~5 0.05 10
1~10 0.1 10
2~20 0.2 12
5~50 *(1) 0.5 15
10~100 *(1) 1 15
*1) B2l =ZE L PVC FE NE (&), =E 4 0j=3
X HEH
NO. HEY
1 AED ZQIE ZX|
2 L8 =Z Y PVC RE ME (&)
3 =Y
4 {2l =Z L PvC 5E M E (O)
£F7| REBURET / 21
=F 8%mL | =3 DemL 4 H 8L &+
0.5~5 0.05 S0y mst 1
1~10 0.1 (ZA) 1 M26
x PAmm
2~20 0.2 A o 3.8
0.5~5 0.05 -
1~10 0.1 24t - Ma6
x P4Amm
2~20 0.2 -
X HEY
NO. HEY
1 AEI ZQIE EHX|
2 fEl E L PVCEE ME ()
3 =Y
4 Fel =& L PVC FE ME ()
5 235 A
6 HZE M
£ 37| REBURET / ZAM
=F 8%mL E=2mL 4 H 82 HET
0.5~5 0.05 S0y mst 1
1~10 0.1 (ZA) 1 Mz6
x P4mm
2~20 02 A 3.8
0.5~5 0.05 -
1~10 0.1 22Xt - M26
x PAmm
2~20 02 -
X FIX A RET, REBURET2| HEE = +1%, AT <0.1%.

X QI8 REO| =2 PTFE.




REBURETE &

W AlofH B8 OfEE MHE
MHME 74 H| 11
OFEHE] 28, 32, 38, 45mm - oomLE @) <
ol &5 30cm (2 17H) © l ,'v
B REBURETE '8 Aloke Ehat
ApF H| 2
ST 9 1L (EM) GL-28 1, 5, 10mLE *(1)
2 38l (ZA) 20mLE *(1)
LIAL 2ETH H 1L GL-45 (2A) 1 ~ 20mLE *(2)
*(1) REBURET &8 A|oftd A8 OfEtE, QlEl B2 2+ 17 =gt
Q) Big BE =3k
s= 4
|
B REBURET& =
ME M H| T )
Hﬂ_ :ITOH = HA 2= S
OtM, 22| oA —
1~ 20mLE @)
235 2 (371)
REBURET, FIX A RET® & —
BEHEE 8 T8+
TmLE —
smLE > ot HE
2
AEH ZOIE SUX| 10mLS
20mLEg
50mLE 1
100mLE
1mLE *(1)
ME FENE (T) 5mLE *(1) 2
10mLE *(1) AED EQIE ZaA:K|
*1) 52 A 40mm, W& 2.5mm.
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